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MATHEMATICS Bkl

Ql. A can do a work in 6§ days while B can do

same work in 163 days. How long (in days) will
it take if they do the work together?

A TS BT sgﬁaﬂmmtmﬁsammaﬁ

16> foet A He FFHar 2, At Al fAeHe I8 T B
faa Ra A s S92

(A) 422 ()5

16
21

(»)) 5;—:




MATHEMATICS

Q2. A can do a work in 72 days and B in 90 days.
If they work on it together for 10 days, then
what fraction of work isleft?

e

A 72 f3i & v &1 He TAdhdT ¢ 312 B 3A 90 2=
A He TAdar 21 af2 310 R & B v 1A H1H
Hea £, dl BT &1 fBdan el aa AT 2

OF

OF



MATHEMATICS i Pkl

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in 3 days what
percent of the total work will be completed?

A TS B @t 20 R & e & Abar & a2 B
&1 B 25 sl A Ye1 e dhar 21 afe 2ol f[AS®e
&1 &e, df 3 A o SI &1 fdden ufdera
&1 21 2 A9 ? —

(A)9 (B) 12



MATHEMATICS

By Pradeep Sir

Q4. A can complete 50% of a job in 9 days and B
can complete 25% of the job in 9 days if they
worked alone. If they worked together how
much of the job (in %) can they complete in 9
days?

A 9 35t 3 50% HTH PRI & Adbdl & e B 9 fEal A
mmm.zs%?mmiluﬁamm
®I1dl Bed g1 Al d U AT H1 Hed ¢ at 9 faar A

faaet &1 (% A) I Adarg ?

(B) 90

(D) 100



MATHEMATICS i Pkl

Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4

days what percent of the total work will be
completed?

342 TP B & 7.5 el A Y1 B Ahar & d2
mmmaﬂiz.sﬁaﬁﬂqmmmémﬁ

dlal f[Aoae 4 e &1 &¢, dt $& S &1

ufdera &1 ge1 2 Ardom 2

(A) 82.5% (B) 80.1%

() 75.5%



MATHEMATICS By Pradeep Sic
AU A, TR :
4 Q6. A can do 1/5th of a work in 4 days 1/6th of
the same work in 5 days. In how many days
— they can finish the work, if they work together?
< >B — %a"ﬁ?%aom A faseft &1 &1 1/5aT a1 4 R A w2 THar g, B
3t &1 &1 1/6a1 3T 5 sl A He Abar g1afe @
Lem -co | T AT fAa@e &1 ®ed € al 38 S 3! fbaa
R A I B aABAE ?
fl +8 - £o (B) 30
= 2 10
— (D)15




MATHEMATICS i Pkl

Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

M TS BT BT 3/4 AHPT12 R A He AHar 2 dATN
mm%7maﬁaﬁaﬁm | Sttt
fAswe I S &1 11/14 31 fbaat fist A B9 2

(c)7 (D) 6



MATHEMATICS i Pkl

Q8. A can do 2/5 of a work in 12 days while B can
do ¢¢ </ of the same work in 16 days. They
work together for 10 days. B alone will complete
the remaining work in:

A TH B & 2/5 o1 &t 12 R A srafds B 3t
B & ¢ 51191 B 16 Al A Y1 e AHar 213 10
fe<il db Ueh AT AT He H1d ded 21 29 B HI B
dhos fhda et A

QeI He &I ?

@) oy

(C) 8days OELLE




MATHEMATICS i Pkl

Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.
How many days would B take to do the job if he
worked alone?

A 3012 B fASee v &1 6.75 faail & er dHea & 3ie
A & T &1 9 el A R1 B APbar 21 afe B
ﬁmﬂ;ﬂﬁmmawmwmﬁﬁmﬁ

%"&H (8)18



MATHEMATICS By Pradeep Sir

Q0. A and B can do a job in 10 days
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next three days. How
long will C along take to finish 60% of the job

A 30z B &1 @ B2k 10 302 5 B & & a@a ¥
aell v At fAese d% &1 ®ed &, Iad
dEBP RATATZC dtet st & ger & Aran

21 3PS C IH B BT 60% AT fabaat et A g
BN ? —

(A) 30 days/fést (B) 25 days/feést

() 24 days e




MATHEMATICS e el

QIl. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how
much time can they complete the work?

X fheft i Bl 3 RaA s awar g, vy At s d &
e Bl sfRa A Feadar g R z A s &
ui" I &t 12 ffat A & a®ar g1 Al 3 v Ty

ufdfeat 6 5 &1 Hed g, dl I grel S &I Gl
ma]ﬂmmmmmaﬂ'l

(A) 4 hours
B) 5 hours

J) 4 NOoUrs 1iv minutes
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Ql12. A can do a work in l4§ days. Bcando it in

16§ days and D cando it in 33% daysand A, B, C

and D together can do the work in 5 days. In
how many days C can do it?

C — B—-a’éQ?

0|
1
g

3. 0 - 335> (29,

A f5eft 1e1 31 142 fas1 & B2 Twar & B It 1o B

Lo — F\ + e +C4p=159 ls-ﬁaﬂmmiawDMWﬂas-A B,C

moﬁmmaﬂsﬁa’maﬂm% arc
+@ Lem= | on | AP IA DS B fbaat el A weam?

W
@ C —«Z#&gb (c) 20 (D) 40
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Q13. Sandeep do (%)th of work in 10 days, Kapil
can do 40% of work in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKkumar
can do 37.5% of work in 17days. Who is less
efficient?

&dly, 10 35 & BT &1 (4) AP B AHdl &, BfUS
15 3l & BTt BT 40% He Al g1 30T TaBeUT 13
fail & &1t &1 (1/3) APT B Adal gl 3R TAGATE
17 f35it & ST BT 37.5% AT He ABdl 1 ATd B

Pl aad FAFAGE ?
(A) Sandee

(B) Kapil

(¢) bevkaran/[dadeor

(D) Rajkumar/2Toigpare




